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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

In ---- strategy the organizer defines the list "To do task” is : : gﬁg ‘.w/,iJurK ’ /’wu:m}’ S 111
Divide and conquer 1y 8»!)/(:.5? (B) Guess, check, and improve b 7ol becilil (A)
Prototype ¥ (D) Act it out - &57.:’».‘»{ 1(C)

In a flow chart, diamond symbol represents : : “4.32;;&%11&9(1:} liuf..‘.ug;ﬁ 2

Connector ﬂ (D) Processing ..f{:{ (C) Decision Sileded (B) Input/output Lg 5T 1 el (A)

Which number system digital computers used to store data :: ujZ..fJLv"’lr'lEMwl/uﬁg{ f--"ﬁééf i Lo 3

Hexadecimal J“ﬁ' S’y?’ (D) Binary tjlj (C) Octaalld’r 7(B) Decimal ($/2#1 (A)
What is the decimal value of (1000001), : L el e (1000001), |,
(69),, (D) (65),  (C) (67)y (B) (66),, (A)
" | want to excel in computer science” is a D s L ‘Uﬂt'q_(‘gt/(}"‘ laajwufuxbf/‘;f,{uf” 5-1
Truth value . ki (B) ~ Truth table J"’;’:/‘ (A)
Compound proposition uﬂﬁgdgfcf lf (D) Proposition J”:'J{jd{ (C)
IPV4 address is made up of -—-—- binary bits : | ; ﬁ:..iftc:. u’*d/g ..... okl IPVA4 6
30 (D) 32 (C) 29 (B) 31 (A)
----- means making illégal copies : i §.tﬁgu:5’ éit?/:f;l/c_ _____ e
Privacy (-£l; (D)  Browsing £J5L (C) Right &#1, (B) Piracy (-2 (A)
Borrowing and installing a copy of a software ; ‘Lt'u:'( - F/fdujiﬂéfd/ﬁ:&v‘f{d&lc.g/mf/ 8
application from a colleague is called :
Soft lifting i (B) (\ Online piracy ui;’gvfuuf (A)
Hard disk loading 590334 (D) Counterfeiting & £76 (C)
in HTML, to underline a word "Pakistan", : c‘..t'ndl«'zf’h..,é“__ #/L/uf’ﬂzﬁlf"Pakistan"}z‘ﬂu: HTML|9S
we use - tag :
<uli> (D) <ui> (C) <ul> (B) <u> (A)
In a web page, images are added with the ----- tag : : g..t'lg.l,ﬁc;ud/u?.--- ;C/.r‘juﬁ &= w210
< image > (D) <img> (C)  <photo> (B) < pic > (A)
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( PART-I il .»)
8 2. Write short answers to any Four (4) questions : J g AT 4 /‘7 L =y (4) /o = Jf -2
(i) Why RAM is called a volatile memory? e EolfUn Ut Sevsss RA (i)
(i) (1024),, hexadecimal convert into decimal number system. -nggzﬁw'(w}djt‘—”/ (1024)K (ii)
(ili) Define flowchart. Sk i
(iv) What is boundary test data? "uﬂ?&fé LI aoks L(iv)
(v) Define secondary memory. ..’.é - ;J S8 (v)
(Vi) What is byte? el (V)
8 3. Write short answers to any Four (4) questions : : g =R /"f L ey (4) Jb . J/ -3
(i) Draw truth table using "NOT" operator. _c.._(ffz’: grc/dt-"&/ﬂ"NOT" (i)
(i) Define commutative law. ~.£_fuL«.J:l./uib (i)
(iii) Define logical expressions. -éfgug_@ fJﬂ/:’g Ué? U (i)
(iv) What is meant by hardware sharing? ?a"_.:f/ga, j/".‘.ﬁj:::bg (iv)
(v) Write types of connection. -Zf:’uy(u'd’uﬁg (v)

(vi) How to connect client and server with each ?qL/.bngc:(:,; /:;_ﬁ/;/»ldtb//.*.:,»fl (vi)
other on internet?

8 4. Write short answers to any Four (4) questions : : J AR /‘"' Z =y (4) Jla & J/ -4
(i) Write a code of HTML of font size of -é»((HTML£¢£241VuiKJ"PunJab" (i)
text 24 "Punjab".
(ii) How many types of list in HTML? ‘-'uj(lﬁf&{d/&d!HTML (ii)
(iii) Define rospan. gy A8 m i)
(iv) Define table. -é.ej.’.\!g)‘: (iv)
(v) Differentiate between integrity and confidentially. T SASAS M nDe (V)
(vi) What is purpose of password? ‘71‘_'. fryradie gf (77104 L (vi)
_ ( PART -1 ¢ ) "
Note : Attempt any Two questions. § -é KT 4 L ey » e df O
4.4 5. Whatis meant by defining a problem? _Z{yu,uigjtéé'/&‘/: ?L:I/Lfa,cj.‘.”w =B
Also explain understanding a problem. :
4 4 6. Write a note on star and ring topology. _éu:‘/d)lf.{wbb B

2.6 7. Why we use data encoding? -&"'/..*A’/?J/chfc;.é:@f.&ggl} ":_dlod/u/(Encodmg J;fuu,,(

Also write any three data security issues.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

------- is a graphical representation of an algorithm : : c‘:_JLgi;ld;r‘jl(Z:m 1 -1
Solution (f (D) Flow chart .wkﬁ ©) Graph ..5'/ (B) Matrix o' (A)
Which symbol in the flow chart is used to start - e QW12 T e 5 eap:
Decision .ke? (D) Process J"@; (C) Connector ﬂ'/’/ (B) Terminal S (A)
Hexadecimal system has total ------ numbers : ! ujZ..n/," ..... o J"')" A3
15 (D) 18 (C) 16 (B) 17 (A)
In binary number system "17" is equal to -------: ! q.t’ﬂf.’/.ﬁ ..... 7" /:‘;u:(”'//,‘;dj"& 4
10000 (D) 10110 (C) 10100 (B) 10001 (A)
In Boolean algebra, there are --—--- possible variable values : : ujérzq Nl L,(ca‘/:?" LA l}!dg:j 5-1
1.(D) 8 (C) 2 (B) 4 (A)
IPV6 address is made up of ------ binary bits : i ‘L.C*c; Lf"dj‘lg ..... J/él IPV6 |6
16 (D) 128 (C) 32 (B) 255 (A)
—————— used this method of encryption for  : U -1 4 Kd/@vﬂé{{fwt%;[U)ifﬂ’uz?}%-’é——--" 7
sending messages to his Soldiers and Generals :
Hacker J.A* (D) Caesar . (C) Vigenere /é‘/; (B) Cipher £l (A)
Which symbol represents the copy right protected product : - g.&zgzw/.‘/@gb‘ffc_#f l/(él{:/wf;( 8
(R o ® (©) D @) © (@A)
Choose the correct HTML tag to make a  : Lat‘rzdb'?’lg L/u},b’ | Mfo B G HTMLUA= Jits|9
text bold : v
<b> (D) <hr>(C) <br> (B) <i> (A)
Tag which is used for paragraph : : ct:.t'nJWléérJlﬁ/j.-ﬁ ...,,C/‘ 10
<br> (D) <hr> (C) < title > (B) <P> (A)
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( PART-1 Jit -»)
8 2. Write short answers to any Four (4) questions : : é R4 /""‘ L = Ul (4) :l; & é/ -2
(i) Define algorithm verification. sl pUe sl d{’Jfﬁ;’m (i)
(i) Define candid solution. LSSkl i)
(iii) Write the name of the steps involve in problem solving. ?ugz_ﬂJW" 1 i/'c’_:%}K é./gf (i (iii)
(iv) Define binary number system. -24:/_4/7(;("//6/,1, (iv)
(V) Why we called secondary memory is non-volatile ?%HQL{UX.( S J’L‘ Uuutfdu‘..' S (V)
memory? P
(vi) Convert (357),, into hexadecimal number system. -2":(J_ J}'JI(;'/ /‘ “"51)3/ (357 (vi)
- 8 3. Write short answers to any Four (4) questioné : t :".f =\ /:" & ‘aulr 4) /¢ = 43:( -3
(i) Draw a truth table of an OR operator. _2;'_&&35/'62455 OR (i)
(i) Write down NOT (P) for P proposition. 20 NOT (P) éér Pﬁ){jd{ (i)
(iii) Write any two names of the law of Boolean algebra. -’aﬁ’(téd l:.":::,é:z;%'dij:j (iii)
(iv) Why we use server computer? Sur Z./JLJ”U)"./ (719{{.‘:3/ (iv)
(V) What is protocol? ?‘L;!/lfc_dﬁg (V)
(vi) Define router. -Z-: - /‘L(/‘u (vi)
8 4. Write short answers to any Four (4) questions : c off e R /‘“" L = Uir (4) e = J/ -4
(i) Define HTML.- _E A HTML )
(i) Which tag is used for horizontal line in HTML? fe b Je1 G ufa{i,hﬁdu&;fu: HTML (i)
(iii) Why &nbsp; is used in HTML? St Ue1us &nbsp; UEHTML (i)
(iv) Define sabotage. ' _’cf:’: ..g/U S }" (iv)
(v) Define hacking. -’Z:/ - /’"d/ L (V)
(vi) Give one example of paired tag. _Z.')J@ugd/u,é A (Vi)
Note : Attempt any Two questions. ¢ PART-II o~ ) -é =2 L olly e ‘31( Oy
4,4 5. Explain determining requirements for a flow chart. : -ég:«?lﬁ;dﬁ’.}(ﬂb’ﬁ &J’.lg)ﬁ <D

2,6 6. Whatis data communication? Explain components -a’f.;){;ml&("cf"-‘g}f ‘-"4.:’/9;(:_ u’—-"‘%..f&;' -6

of communication system.
2,6 7. Whatis phishing attack? Write three characteristics of -Z{//{w&n"d 5] df&}-’d s ?g‘-..txg_g s 7
phishing e-mail.
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